LetsPlayMaths.com

Percentage -3

1. Bob scores 56 and John scored 72 in a math exam, full mark of the test is 80. How much percent john
scored more than Bob?

a) 10% b) 15%
c) 20% d) 25%

2. A company earns $ 500000, out of which it pays 75% to employees. Then, how much money remain
with the company?

a) $ 145000 b) $ 125000

c) $ 375000 d) $ 345000

3. In a school there are 750 boys and 850 girls. What are the percentage of boys and girls in the school?
a) 46.88% Boys & 35.12% Girls b) 46.88% Boys & 53.12% Girls

c) 53.12% Boys & 46.88% Girls d) None of these

4. There are 1500 kg of apples and oranges in a farm, out of which 600 kg are apples. Then, what is the
percentage of oranges in the farm?

a) 70% b) 65%
c) 60% d) 55%

5. John earns $ 6000 per month. He spent $ 1000 is on house rent, $ 1200 on food and $ 500 on
miscellaneous expenditure. What is the percentage of his saving?

a) 50% b) 55%
<) 60% d) 65%

6. A soccer team won 40% and lost 60% of all the matches it played in one year. If the team played 70
matches in that year, then how much match the team lose?

a) 42% b) 45%
c) 50% d) 55%
7.5cents = % of S1.

a) 25 b) 20
c) 15 d) 5
8.450 ml = % of 1 liter.

a) 35 b) 40
¢) 45 d) 50
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9.57 grams = % of 1 kg.
a) 75 b) 0.75
c) 7.5 d) 5.7

10. In an exam passing mark is 40%, Joy got 500 marks and failed by 20 marks. What is the total mark of
the exam?

a) 1200 b) 1300

c) 1400 d) 1450
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